> A:=<2,4,-1,5,-2|-4,-5,3,-8,1|2,-5,3,-8,1]-6,0,7,-3,1>" +;

I
vV VvV

V VYV

2 4 -1 5 -2
-4 -5 3 -8 1
2 -5 3 -8 1
-6 0 7 -3 1

# Copy-paste from Utah Maple Web HelpTools
with(LinearAlgebra):
combo:=(a,s,t,c)->RowOperation(a,[t,s],c);
swap:=(a,s,t)->RowOperation(a,[t,s]);
mult:=(a,t,c)->RowOperation(a,t,c);

combo = (a, s, t, c) — LinearAlgebra:-RowOperation(a, [t, s], c)
swap = (a, s, t) — LinearAlgebra:-RowOperation(a, [t, s])
mult == (a, t, c) — LinearAlgebra:-RowOperation(a, t, c)
C:=<A|ldentityMatrix(4)>;
2 4 -1 5-21000
-4 -5 3 -8 10100
2 -5 3-8 10010

-6 0 7 -3 10001

Cl:=combo(C,1,2,2);
2 4-1 5-21000]
0 3 1 2-32100
2 -5 3-8 10010
-6 0 7-3 10001

C2:=combo(C1,1,3,-1);

2 4-1 5-2 1000 ]
0 3 1 2-3 2100
0 -9 4 -13 3-1010
6 0 7 -3 1 0001

C2:=

C3::combo(CZ,1,4,3);

(2 4 -1 5-2 1000 ]
31 2-3 2100
-9 4 -13 3 -1010
12 4 12 -5 3 0 0 1

C3:=

S O O N

C4:=combo(C3,2,3,3);
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> L:=1/L1:

> (L.U)-A;

B C5::combo(C4,2,4,-4);_

C5:=

> U:=C5[1..4,1..5]

> L1:=C5[1..4,6..9];

> LUDecomposition(A);U;
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Ll:=

1
-2
1
-3

-1 5-21000]

1 2 -32100

7 -7-65310

412 -5300 1
24 -1 5-2 1 000]

1 2-3 2 100

7 -7 -6 5 310

0 4 7 -5-401

4 -1 5 -2 ]

31 2 -3

0 7 -7 -6

0 0 4 7

1 000|

2 100

5 310

-5 =40 1

1 000

-2 100

1 -3 10

3 401

0000 ]

0000

0000

0000

0o0o0|[24-1 5 -2]

100|003 1 2 -3

310|000 7 -7 -6

401|000 0 4 7
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(24 -1 5 -2]
03 1 2 -3

00 7 -7 -6 (13)
00 0 4 7
=>1/L; _ _
1 00 0]
2 100 ”
5 310
-5 -4 0 1




